EDF2 &% — FITAEHRM ( Ri1782 )

1586~ HBR « STIBHEIEAUSR

CHELIC.

SR

@ FERITBENEE , SAMRESED

@ FHEHMALEE, MAE—RE, REEEEEE
@ FIEHIME « BE ~ REH

MIBR

EH mgk EDF2-08 EDF2-12 EDF2-20
A N | BEREE 17~23 17~42 50~102
FARITTZ mm 32 48 80
BRaRE mm/s 40 60 60
EEAN 142
ERREEHE °C 5~40
ERRERE % 35~85
BiERY 0120 \ 028 035
EREMEE mm +0.02
B ke 0.32 \ 0.65 161
R RS-485
TEBE v DC 24V
L A 1 \ 15 18
P& 4R IP40

i LIRESERNRE ARESR - RRFNS > TENEEARINEE > BRREBIAE Sm KISE 0 BERENS Sm &% THE 10% -

2 EARBEEBHRRERE REMEERERSD

3. 5512 30~70% BIFME

FTEEMBMEARST EDF2 20 - 03
1 2
1[ ®% [ BERY | mEEEmm 2 [ ®’% | mESEm
08 [J20 32 e TR
12 028 48 03 3
20 35 80 05 5




EDF2 &% — FITAEHRM ( Ri1782 )

BRI EIER

CHELIC.

REFYIRIRERY
REFHIRIEESD

RRFYNEE -

4

IEVEP) FREBZREFNEIETHE

o Y74 B FT AT & U5
Fo3&E 2 BAL: AFIR(N)

IEEPA PR AmstE »  JEEE REFDERETRR

W: THES > B FE(N)
m: IHBEE > B AfF(Kg)
g EIMEE(=9.8 m/s?)

- AR B8 TR B EE SR 1R B

o RFTHFISEBVIRM

o Gt HEE
B2 REASF=4,u=0.2
F= x4=10xW
2x0.2

o ERFHMu<2EE>

[E 247 B TEME

2XuUF>W = F >
2X U

0.1 & B (HBRZ3.2UTF)

Lo

o ZERHAEASF, FA

w

F= x SF

2xu

RFAEFREEER

0.2 =B

0.2k | B2 - fifE

EDF2-08
25
o sHE " 1
—
KW = 0.2kg z . ]
Z2EH=13 B w
(1B AT ERN10~2015) Ko
Fﬁ%ﬁﬁ%#fzh U0 10 20 30 40 50 60 70 80
=0.2kg x 13 x 9.8m/s? =25.48N | £ BRE %)
Sk REREENEA
EDF2-12
50
+ 40
E‘ /
= 30
EDF2-12 & 2
50 &
10
40
— 0
Z 30 / 0 10 20 30 40 50 60 70 80
o A ()
&
10
EDF2-20
0
0 10 20 30 40 50 60 70 80 125
BIRIE (%) 100
g 75
R
° EEWIE £ =

1REFN<F>2 M fE 5 MA K& THIER °

Hep— {85 MBI RHE 7 -

2. REFEE<L>AIRMBEREFHBSBER

25

0
0 10 20 30 40 50 60 70 80

BIRE (%)




EDF2 &5 — F{ITXBEIRM ( RITIE) CHELIC.
PRI - TR

pEEEE

19 20 12 21 2
s Y\ /@
@\f NN = =

S (°)
| -

ZHMRR

55 278 HE 55 27 L
o1 #8 wEe 12 [ a2
02 12 T 13 % B wag
03 wiE T 14 B A%
04 wE T 15 B4 a2
05 o R 16 B4 a2
06 o R 17 B4 a2
o7 FiEETE R 18 # e
08 W s 19 RS WA
09 K WAl 20 B R
10 R A #ae 21 B4 A%
1 e a2




EDF2 &% — FITRXEEIRM ( R1TIE) CHELIC.

SNERERRT
EDF2-08
8 5.8 5.8 8
8-M2.5x0.45Px3dp
% & D% &
o >0 PO OG- 1
% & 1 4 ¢
31 90
17 19.6 Bd:32 19.6
“7" EA:0
N — 1993
T 0 R — S e
e - [ 2
2-04.28iE 85"
® & ® M5x0.8Px10dp (i) e
\bm\j} ‘ T
n
N —
‘ ™
® ®
245 1 12
|
40
45
50
2334
xdp 40 4-M4x0.7Px6dp

o~
n
2 o G - N B |
A A Fan
¥ N N
- +0.03
3001 o dp




EDF2 &% — FITRXEEIRM ( R1TIE) CHELIC.

SNERERRT
EDF2-12
18 5.5 5.5 18
8-M3x0.5Px4dp
N
D S
N 17 /R
El & b - _ g e
5 o] | 2 &
i 108
- 20 _ = ‘ o | & |
‘ ‘ ‘ BA:0 ‘ ‘
15
@3 xadp [ ] [ 1 g
("1'—‘Q
| 2-@528i® =
® M6x1.0Px10dp (/i) "’
1
\@C‘B _ 7(H ‘,
o
n ~
3
B _
3
‘ = .
3455 1 12
50
54
+0.03 50
03" 0%3qp | 4-M5x0.8Px6dp
| \
A~ Y _ d
P

20
19.5
O
\
<
\
\
ol
P | <
\

1
T+




EDF2 &% — FITAEHRM ( Ri1782 )

CHELIC.

SNERERRT
EDF2-20
30 9.1 9.1 30
8-M4x0.7Px4dp
3 3 53 53
D 5 5 D
47 180
2 ‘ 482 B8:80 ‘ 482 ‘
| ™ | |
| +0.03
+0.01 | =
@5  x4d I . 1 2
E ﬁ ~ p : 8825
20688 | | %%
M8x1.25Px16dp (Fmm) ©
‘ \\‘Q§$ . _ dseh
[52] 1Ll
N |
| “ ‘
‘
I
|
69.5 1 12
|
90
90
+0.03
9
+0.01 L
@5 " x4dp | 4-M6x1.0Px10dp
B-——t— -
2 2 o - - - - - 1H
PN =
P D
— +0.03
5*0054dp




BEfRKE

EDF2-08 FBiERARE

L |
SCFEIER
V+ V+ EIRIEMR
o V- WRaIE
X0- X0+ WA O0IE
DI X0- e 4
é ? = X1+ HWALTE
= + X1- Y
Y0- X2+ fiigs g
485A X2- Ry
485B
M12-12 PIN 38 | 9E (L) | 3m \ 5m | Yor =
Y0- 35
485A 485A U
485B 485B i
Ground $EH
EDF2-12 / EDF2-20 HBiEf4E
L |
SFIER
V+ EIRIEIR
V- ERER
X0+ A O0IE
X0- BWAOE
é ? X1+ BWA1E
X1- BALA
X2+ A 2IE
X2- WA2E
M12-12 PIN 358 ‘ wE (L) ‘ 3m ‘ 5m ‘ Yor | WHIOE
Y0- BE0&
485A 485A U
485B 485B i
Ground $EH

FERARRALERERERNTEEZEF



